REBLOCKING AND SLOPE PROTECTION OF PUNTA CRUZ PROVINCIAL ROAD, MARIBOJOC, BOHOL/REBLOCKING AND SLOPE PROTECTION OF CAHAYAG (TUBIGON)- KAUSWAGAN (SAN ISIDRO) ROAD (TUBIGON SIDE) TUBIGON, BOHOL/REBLOCKING AND SLOPE PROTECTION OF PAGNITOAN-CANDAVID-TUBUAN-BASAK ROAD (LOON SIDE), MARIBOJOC, BOHOL

CONTRACT AGREEMENT No: 2020-826

THIS AGREEMENT, made this <u>15th</u> day of <u>December</u>, <u>2020</u> between <u>Provincial Engineer's Office</u> of Provincial Government of Bohol (hereinafter called the "Entity") and <u>INABANGA DRILLING CONSTRUCTION</u>, <u>STEEL FAB. & GENERAL MERCHANDISE</u> of San Isidro, Inabanga, Bohol (hereinafter called the "Contractor").

WHEREAS, the Entity is desirous that the Contractor execute <u>INABANGA</u>

<u>DRILLING CONSTRUCTION</u>, <u>STEEL FAB. & GENERAL MERCHANDISE</u> of San Isidro, Inabanga, Bohol (hereinafter called "the Works") and the Entity has accepted the Bid for <u>P 3,804,986.13</u> in Three Million Eight Hundred Four Thousand Nine Hundred Eighty Six Pesos and Thirteen Centagos Only by the Contractor for the execution and completion of such Works and the remedying of any defects therein.

WHEREAS, Project shall be completed in 47 Calendar psys in accordance with the provisions of the Bid Documents;

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- In this Agreement, words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract hereinafter referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as part of this Agreement, viz.:
 - a. Philippine Bidding Documents (PBDs);
 - i. Drawings/Plans;
 - ii. Specifications;
 - iii. Bill of Quantities:

Activity No.	Description	Unit	Qty.	Unit Price	Amount
B.5	PROJECT BILLBOARD / SIGNBOARD (8' x 8')	Each	1.00	5,880.00	5,880.00
100(1)	CLEARING & GRUBBING (WITH STRIPPING)	Sq.m	302.02	21.08	6,366.58
101(3) b2	REMOVAL OF ACTUAL STRUCTURES/OBSTRUCTI ON, (0.20M. THICK PCCP)	Sq.m	302.02	152.65	46,103.35
104(1) b1	EMBANKMENT FROM BORROW (COMMON MATERIAL)	Cu.m	30.00	628.18	18,845.40
200(1)	AGGREGATE SUBBASE COURSE, 0.20m.thk.,(INCLUDES SHOULDERING)	Cu.m	50.00	863.77	43,188.50

311(1)	PORTLAND	Sq.m	302.02	1,460.25	441,024.71
b	CEMENTCONCRETE	8-81	002.02	1,100.20	111,024.71
	PAVEMENT (UNREINFORCED) - 0.20m.thk., 14 DAYS				
506(1)	STONE MASONRY (SLOPE PROTECTION & PARAPET	Cu.m	41.60	4,716.01	196,186.02
B.5	PROJECT BILLBOARD / SIGNBOARD (8' x 8')	Each	1.00	5,880.00	5,880.00
100(1)	CLEARING & GRUBBING (WITH STRIPPING)	Sq.m	297.00	21.08	6,260.76
101(3) B2	REMOVAL OF ACTUAL STRUCTURES/OBSTRUCTI ON (0.20M. THICK PCCP)	Sq.m	531.92	152.65	81,197.59
104(1) B1	EMBANKMENT FROM BORROW (COMMON MATERIAL)	Cu.m	60.00	628.18	37,690.80
200(1)	AGGREGATE SUBBASE COURSE, 0.20M.THK. (INCLUDES SHOULDERING)	Cu.m	113.36	863.77	97,916.97
311(1) B	PORTLAND CEMENT CONCRETE	Sq.m	531.92	1,460.25	776,736.18
	PAVEMENT (UNREINFORCED) - 0.20M.THK., 14 DAYS				
506(1)	STONE MASONRY (SLOPE PROTECTION & PARAPET)	Cu.m	87.68	4,716.01	413,499.76
B.5	PROJECT BILLBOARD / SIGNBOARD (8' x 8')	Each	1.00	5,880.00	5,880.00
100(1)	CLEARING & GRUBBING (WITH STRIPPING)	Sq.m	236.25	21.08	4,980.15
101(3) B2	REMOVAL OF ACTUAL STRUCTURES/OBSTRUCTI ON,(0.20M. THICK PCCP)	Sq.m	236.25	152.65	36,063.56
104(1) B1	EMBANKMENT FROM BORROW (COMMON MATERIAL)	Cu.m	60.00	628.18	37,690.80
200(1)	AGGREGATE SUBBASE COURSE, 0.20M.THK. (INCLUDES SHOULDERING)	Cu.m	50.00	863.77	43,188.50

TUDE	TOTAL BID AS READ E MILLION EIGHT HUNDRED			>>>>>	P 3,804,986.13
506(1)	STONE MASONRY (SLOPE PROTECTION & PARAPET)	Cu.m	245.00	4,716.01	1,155,422.45
	PAVEMENT (UNREINFORCED) - 0.20M.THK., 14 DAYS				
311(1) B	PORTLAND CEMENT CONCRETE	Sq.m	236.25	1,460.25	344,984.06

- iv. General and Special Conditions of Contract;
- v. Supplemental or Bid Bulletins, if any;
- b. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- c. Performance Security:
- d. Notice of Award of Contract and the Bidder's conforme thereto; and
- e. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.
- 3. In consideration for the sum of Three Million Eight Hundred Four Thousand Nine Hundred Eighty Six Pesos and Thirteen Centavos Only or such other sums as may be ascertained, Engr. Edwin B. Gucor agrees to REBLOCKING AND SLOPE PROTECTION OF PUNTA CRUZ PROVINCIAL ROAD, MARIBOJOC, BOHOL/REBLOCKING AND SLOPE PROTECTION OF CAHAYAG (TUBIGON)-KAUSWAGAN (SAN ISIDRO) ROAD (TUBIGON SIDE) TUBIGON, BOHOL/REBLOCKING AND SLOPE PROTECTION OF PAGNITOAN-CANDAVID-TUBUAN-BASAK ROAD (LOON SIDE), MARIBOJOC, BOHOL in accordance with his/her/its Bid.
- 4. The Provincial Engineer's Office agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.
- 5. In consideration of the payments to be made by the Owner to the Contractor, as earlier mentioned, the Contractor hereby covenants with the Owner to implement and complete the Project in conformity with the provisions of the Contract, the documents incorporated herein and the laws and regulations made integral parts hereof.

Commence Work and the posting of	radvance payment to the Contractor of 15% of roval of the Contract, issuance of Notice to irrevocable standby letter of credit of equivalent ints to repay advance payment to the Owner by yment.
IN WITNESS WHEREOF, I notarial seal this day of	have hereunto set my hand and affixed my , 2020 in Tagbilaran City, Bohol, Philippines.
PROVINCIAL GOV'T OF BOHOL BY:	Inabanga drilling Construction, Steel Fab. & General Merchandise BY:
ATTY. ARTHUR C. YAP Governor	ENGR. EDWIN B. GUCOR Proprietor
WITNES	SSES:
CAMILO L. GASATAN End User	GENE C. PLORES PEO, Engineer III
REPUBLIC OF THE PHILIPPINES)	LEDGEMENT S.S.
Gucor with Community Tax Certificate No on, known to me to be instrument consisting of four (4) pag acknowledgement is written, duly signed by	me, Atty. Arthur C. Yap representing the aployee ID No. 19141 and Engr. Edwin B. , issued at, the same persons who executed the foregoing ses including this page upon which this by the parties and their witnesses on each and sed to me that the same is their free act and
IN WITNESS WHEREOF, I I notarial seal this day of Philippines. Doc. No. 382 Page No. 77 Book No. 197 Series of 2020	ATTY RICO E. CARARROHIAS NOTARY PUBLIC UNTIL DECEMBER 31, 2020 PTR # 0788061:01-02-20 IBP # 15876:01-02-20 ROLL OF ATTORNEY NO. 41722 MCI E # VI-0006630
	ROLL OF ATTORNEY NO. 41722 MICLE # VI-0006630